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Directions: Match the systems A, B, C and D to the numbered system examples above and give an ALGEBRAIC reason
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7. Write the system of 3 variable equations for the matrix){-3 1. 2 6]
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Write the matrix for the system of equations and solve (remember [A]'[B]).

; - _ 4x -y +2z=10 3x-2y+z=6
9 {_i’;:’;y;‘ 10 {5x+2y.—3z=0 1 { 4x—6z=6
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12. Last year, a baseball team purchased new equipment. The equipment
manager paid $20 per bat and $12 per glove and $15 per ball, spending a total of $646.
The manager bought 40 pieces of equipment. They bought 7 more bats than balls. Write
a system of equations and solve for the amount of bats, gloves, and balls that were

bought.
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Is (-3,-3) a solution? Expléﬁ Is (3,0) a solution? xplain
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13. Andrea Liskow was the top scorer in a women's professional basketball league for the
2006 regular season, with a total of 822 points. The number of two-point baskets that
Andrea made was 60 less than double the number of three-point baskets she made. The :}

number of free throws (each worth one point) she made was 15 less than the number of
two-point field goals she made. Find how many free throws, two-point baskets, and three-
point baskets Andrea Liskow made during the 2006 regular season.
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